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— 6= 9,692% x9H x10A| 2H+12& 10,468
—-72 8, 7542 x9H x10A| 2t 12 9,455
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SN BE SN
dM: GAHEE 25
CHol: BASA JIBEA (ctel:&2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 1,864,700
< 12,400
e 816,121
SEMEUsZZ 0 3,850 4,150 A 300
2 2,700
i 1,150
307 glz2tol & 3,850 4,150 A 300
= 2,700
e 1,150
02 2B AEXS 3,850 4,150 A 300
OstZMEgnssz 1 3,850
= 2,700
fia 1,150
=2 - & SE MEHSHE SRAY 2,018,571 1,929,000 89,571
= 1,518,000
[ia 500,571
401 A2 HIL 2 TH Y| 2,018,571 1,929,000 89,571
= 1,518,000
s 500,571
01 A& Hl 1,811,509 1,722,797 88,712
O2Zd=H MHOIE SJAAY 1,811,509
= 1,310,938
e 500,571
02 Zeltl 200,000 200,000 0
O2Zdd=H MEHEHOIE=EJ ALY 200,000
= 200,000
03 Al 20 HI 7,062 6,203 859
O2Zd=H MHOIE SJAAY
1,961,509, 000& *0.36% 7,062
= 7,062
Jeleld sk 4,000 8,000 24,000
= 2,000
s 2,000
301 L2 A Z 4,000 7,000 23,000
= 2,000
[ia 2,000
09 HALAHIEA S 4,000 7,000 A 3,000
Ogleld s XA 4,000
= 2,000
s 2,000
HN=AHU WA 86,800 44,800 42,000
= 62,000
= 12,400
s 12,400
402 RI2FX=201 M 86,800 44,800 42,000
= 62,000
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SN HE=XD
dM: GAHEE 25
CPlr BAEH JIBEA (e &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 12,400
s 12,400
01 QIZERI 22X 86,800 44,800 42,000
OM=AHU WA AL 86,800
= 62,000
= 12,400
s 12,400
SEMUHE L Z LAY 600,000 500,000 100,000
= 300,000
s 300,000
401 Al HI K 201 I 600,000 500,000 100,000
= 300,000
s 300,000
01 A& Bl 596,243 496,425 99,818
O=EMHELZ LAY 596,243
= 296,243
i 300,000
03 A& S THHI 3,757 3,575 182
O=EMEHELZ LAY
596,243,000 *0.63% 3,757
= 3,757
ots=E 23 54,384 52,144 2,240
= 9,000
< 4,517
e 40,867
Hes=ES 18,800 18,560 240
201 L4 1,700 1,700 0
01 At 22l 1,700 1,700 0
ozg, g &l 22 W=
1,000& *1,000% 1,000
OMssEs2d 23 22
7,000 «2H x50 700
206 M= Hl 1,300 1,060 240
01 M= 4l 1,300 1,060 240
OOMESEEHFIHMMETL (DF0IRAIE) 1,300
301 et a3z 14,300 14,300 0
09 &AL HI B &S 13,800 13,800 0
ORoOIdEESE 2HE AREH It =
240,000& »20H 4,800
ORdotMEE PHE EsH(ZHME &, I
dRF ) 25,000 *15H 82«32 9,000
MIEE4d3 500 500 0
OYd, Ul AX B4 50,000& 10 500
307 gl2tol & 1,500 1,500 0
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SN HAGEA) - MRAY - B 0l &t o il HImEET
01 22724l 1,500 1,500 0
Os=E E3iE 1,500
Of AlE BEs@ HIX 7,584 7,584 0
= 1,517
= 6,067
101 @124l 7,584 7,584 0
< 1,517
[ia 6,067
04 JIZHHNZ2Z2XNSE =+ 7,584 7,584 0
ONtdsSAlE B35 40,360% 2H x93.952 7,584
< 1,517
e 6,067
Or2 == Il off Ol & A 18,000 16,000 2,000
= 9,000
s 9,000
gt =01A 18,000 16,000 2,000
= 9,000
i 9,000
It tEE = 18,000 16,000 2,000
OO0t == 1ldholl 18,000
= 9,000
[ia 9,000
&2 o248l X 10,000 10,000 0
< 3,000
e 7,000
302 OI=LTHOHE & = 10,000 10,000 0
< 3,000
e 7,000
02 RIZIOITHOH 2 & 3 10,000 10,000 0
Ots=E s&= 1 10,000
= 3,000
s 7,000
& S& Az 172,150 254,050 281,900
= 72,000
< 14,400
i 85,750
sgzegdie oy 28,150 26,050 2,100
201 2et24d] 13,710 11,610 2,100
01 At 2teltl 12,900 10,800 2,100
O+t 10,600
—ESZGAD YHEL(EEES
500
—EXEES AE &
400,000 *304 & 1,200




2H: BESXD
dM: GAHEE 25
& SZ2E2E HEsAgE2el SENEEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— PAEEOIA HHEAMEE NECEZHE M
50,000& 173 850
—dotxFH A O EAM ME
150& %20, 000 Al CH 3,000
—HWENASETY B A2
150, 000& »5CH 750
~BOF SATR A +22
1,300, 000& *1JH 2+ 13l 1,300
— &3NS =ZFFH =44
3,000,000& =13l 3,000
OtdtiE=g A NE&EZH T =Hl 200
— otM 3t 50,000& *x4H 200
OZXNEYR =& Sl
7,000 *3E 100 2,100
02 =224l 810 810 0
O322= & HA 810
—d3x HAUHUHSH RERS
270& 3,000 0K 810
202 (44l 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
OILHEZHEANE HEHRUS
60,000 x2% 72 840
Ot AY g 4 AASK
60,000 x2H 52 600
301 et A= 1,000 1,000 0
MIIEBEd3 1,000 1,000 0
OZdgd ] Z&z 100,000& »10A 1,000
307 2201 A 12,000 12,000 0
05 BIZHRI & 3 12,000 12,000 0
Ogxl XIFHIIZS ZatAd 400,000& *30E 12,000
SdiOIE ™2l XFAAZ 144,000 178,000 A 34,000
= 72,000
= 14,400
fia 57,600
403 XSS A0l & 144,000 168,000 224,000
= 72,000
< 14,400
s 57,600
02 S| 2 S0l CHSHCH & A Bl 144,000 168,000 224,000
OZdiOlEX™I X &AL 2,880,000& x50t + 144,000
= 72,000
< 14,400
s 57,600
OISt HMelAld el & =ZHHA 8,600 8,600 0
Helgts Jts2 s  He =2 ZAM 8,600 8,600 0
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2H: BESXD
M oHEE B
S WSt elAld 2tel & =AM (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 7,400 7,400 0
01 At 22l 7,400 7,400 0
Oger==8H| 7,400
—dER2E Y 2,000 1004 200
fEM=EFY 2,000 » 100K 200
—HEAMSEINEEL 2L M2 7,000
IR ER 5,000 10000 & 500
Xl AlE 50,0003 2000 2 1,000
- Hl = 350,000 1000 2 3,500
qE+ 200, 0003 1004 2 2,000
202 04l 1,200 1,200 0
01 = LH 4 Hi 1,200 1,200 0
OZ=ZZA Q2 (RS EH-=AIH A
60,0003 «2H 10 1,200
MEBHIIZ HelAE 29 692,277 709,448 AT AT
szzeldy 29 692,277 709,448 217,171
101 14l 1,557 1,557 0
04 JI2ZtHZ22EE =+ 1,557 1,557 0
OgZzaeldyd 33|
42,780 4«32 »33] 1,541
OdMEE= 1,541,000& * 1% 16
201 Let249] 480,462 445,582 34,880
01 At 22l 86,380 65,800 20,580
Oget=gH| 85,480
— SZ 2B A2 A EHI AR A 2l Hl
180,000& 0.5 *300 27,000
— Ay 22 AREFL(MREES
108) 100,000 =122 1,200
—OHEAE EIZEAM =S (HEAR LA
20,000,000& 13! 20,000
—SF AU =EZAMN =8 4,800
Xt =&AA =22 (2] 13])
600,000& *43] 2,400
EEs =EZA === 200,000 122 2,400
—SF2AC/MEH L2ZAE OOISA BA ==
=25 6,000,000& x13l 6,000
—EZagfHy AAANE NIIEE =22
400, 000& *52== 20,800
— SZ2efHly AYAE FIZAM =2
800,000& x13l 800
—A2ANE HE2BLe HSZA =2
200,000& =13l 200
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KAl

XA SEEE=(30)
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ASHOHEE 32
9

-

220,000& »12&

500, 000& »3CH

, NAX, #@AX, &5 008
Salal= 40,0003 ~504
SEER 700, 0003 «1CH

1,000, 000& = 1CH

800,000& »12&

12,000,000& »12&

5,000, 000 14!
5,000, 000 1Al
10,000,000& » 14

HEAE
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ZE 2A 80, 000! 24074
AZ HRELS WS HAEE
100, 00081 #2082+ A

A2 AT PY
300,0002! +607H

A2 SHH DA

1,000, 000& ~4CH
600, 000& »4CH
2= wx
000&
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sy 25
MEHIIS M2AAE 2
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CB SR (B) - KIRAY - BES e
o
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900
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1,500
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700
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3,876

3,876
83,406
83,406

149,800
20,000
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4,000
2,400

7,200

- 314 -




SN BE SN
HHM: JoHEsHd B
e MEHII2 MelAlE &9 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— A2ZAIE HII=EE 3Ado o9IHEH FL
10,000, 000& = 1CH 10,000
— SOy SIH WA 20,000,000& x 14! 20,000
—HJI=23d¢Q HIEH L AZF WA
3,000,000 *13] 3,000
—AAAE T AW 24
2,500,000 *23] 5,000
—HIEH &2 YEAHONH Wi
2,000,000 14!l 2,000
—SAHAHA s2850] WH
8,000,000 «1CH 8,000
— EAHE) HEESA WA & 04
5,000,000 14l 5,000
— A2FAIA AT Ol24K WA
10,000& *350L i t 3,500
—AAAE YAY SHH DA
20,000& *180RT 3,600
—A2AAE BYAEEY Y
200,000 =104 2,000
— A2ZAIE ANMG BAIEEDT ARE 2 2,900
HTS A 700,000 *3H 2,100
= 40,000 %204 800
— AN G WES YALE P
4,000,000 =14l 4,000
202 04| 900 400 500
01 2L I 900 400 500
Ot ey F=EHXE FOXAYE =&
20,0002 x152 x3H 900
203 ¥ 2 =X 2,000 2,000 0
03 AIZH =& 2 F X H| 2,000 2,000 0
OstB2|HYH 9 &S 2,000
206 M = dl 146,518 139,769 6,749
01 X2 H| 146,518 139,769 6,749
OstZ&2IHEH HEAIE 228 =M 2!
1,000,000 x12& 12,000
OBABAME A2AANL 52 2 2% 27|
4,000,000 *43] 16,000
Ot LMY @54 HeldE 29 AE(38) 5,000
OSHAZHEH AZAE 2 AEH|(HAAM
32 68) 6,000,000 x122 72,000
OstB 2| dy gt oFE Y|
40,0003 x15=x12& 7,200
OstF ey & 34| 2,668
—Fge 1,891 «5004 946
-4 8 1,722& %1,000¢ 1,722
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SN BA=ND
dM: GAHEE 25
S MBHIIE MelAME 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oty HEAME AdFHMAH ASHI
4,000 »4kg*300 4,800
OA2EAIE HIMM(XIZEHIIE) 2280 72(
0.58H) 8,000& »4Z 300 9,600
Ods=2Ud 3&HZE8 M=z 17,250
—HE(XH=8) 550,000 =154 8,250
—RANI(HLESE) 30,000 *3002 9,000
301 et a3z 60,840 60,840 0
MIEE43 60,840 60,840 0
Ostzg aeldy 32 Al
65,000 x26 L x3H «12& 60,840
MEHIIS HE2e 595,630 494,652 100,978
= 20,500
< 17,022
[ia 558,108
MEMY D] = 331,345 329,845 1,500
201 LBt 246,498 246,498 0
01 At 22l 13,700 13,700 0
Oget=&H| 11,200
— SASAY D Z2thE 82& ME
603 «5,00004 x 122 3,600
—SEYHSI HIISE ?E Hel==2
60,000& *x50= 3,000
—MHEEF =g 22E 0t & A2
s 1 4003 *2,500% 1,000
— S0 dEMYD = EHE
150,000 «62| 4 2] 3,600
Ogxtz 2,500
—S8SJ HIIS =H 240 X
300,000& x5 1,500
—MEHYIISEE NERY Zyl AR
200,000& x5 1,000
02 =224l 232,798 232,798 0
02323 2 HA 13,440
— X EHINUA +22(HL 12, SAE 2
Hesg 2) 40,000 = 16CH 640
- XY ZEEES(HA 12, SAS 2, HE
g 2) 800,000 »16CH 12,800
O X+l 219,358
— HAXZ(1204) 166,826
— SAE &=HXHE(20,000km0l & 2CH)
13, 133,000& »2CH 26,266
— e =X (20,000km0l & 2CH)
13, 133,000& »2CH 26,266
206 M= Hl 84,847 83,347 1,500
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SN BA=ND
dM: GAHEE 25
Ce: MEmis HEate (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 =8l 84,847 83,347 1,500
OMIISEM #ASE HA 81,747
—2ots 43,370
- 54 263 +70,0000H 1,820
- 104 343 «150,0000H 5,100
- 204 53& »250, 000 0K 13,250
- 504 1163 200, 0000H 23,200
—338 7,337
- 204 533 %29,0000H 1,537
- 504 116& =50, 0000H 5,800
—MHAIBESE 31,040
- 104 363 *30,0000H 1,080
- 204 55& +500,0000H 27,500
- 304 82& *30,0000H 2,460
Ox=ZZAE 828 72 2,000 =504 100
OSA2Md Dl =48I 2 30,0002 1004 3,000
TRt 2 ECHSD| 158,675 164,807 26,132
101 14 Hl 3,112 3,112 0
04 JIZHHZ2XREE S 3,112 3,112 0
QALY HAXR(HH, 22y, AAMss
Hg) 42,7803 x8H 0 3,081
OdMEE= 3,081,000& 1% 31
201 L2l 45,863 51,995 N6,132
01 At 22l 40,444 46,576 A6,132
Oget=&t| 37,784
—EllEZZE2s & Fatz2s 285 ¢
100,000& » 122 1,200
- SE3&LY 2L (S EX S HIEFY)
10,0003 1501 A %123 1,800
—4R2s2d 222 MH 1,200
o 100& +3,0000H 300
2 15,000& 600K 900
— 301 =) HHA(SFHEXNFY ) 2,000
—ANESSSUHEXN AI=2elE A A ==
=3 31,584
Kot HAE =2ZBA =2
138,000& * 1404 2 43 7,728
LMILA HAL =5
600,000 *3IH 2 *13] 1,800
ELZAM =2 919,000 244 2 *13] 22,056
O= &l 2,660
—H2H S ZE MM BAXE
7,000 «15H « 122 1,260
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SN BE SN
M oHEE B
Ce: MEmis HEate CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—4822s =4 7,000 2 1002 1,400
02 =24l 5,419 5,419 0
OE- &2 AIIHHI 2H(CC-TV) | Xl Z2ld] 5,419
— oY AIBE 37,400 *30f 2+ 12& 1,347
—dIIReRa 3,000 x20f & +12& 72
—ols&xt s 2,000, 000 2CH 4,000
202 oddl 1,200 1,200 0
01 S LHOYI 1,200 1,200 0
O422s =4 & M) SHEI ¢
20,000 «2H x302 1,200
301 Lete &3 102,500 102,500 0
09 AL HI B A S 2,500 2,500 0
Onf"s 2SI 23 W NESAMAL =
Al 2,500
-89 200,000& 18«11 & 2,200
-z 300,000& x13l 300
MIIEEd=3 100,000 100,000 0
O2sHII2 =% ZAS(HUY, s¥blEs,
Hs%tsSX) 100,000
401 Al HI L 2 THHI 6,000 6,000 0
01 A& HI 6,000 6,000 0
Oz=sde 2= 300, 0003 2004 2~ 6,000
HUY =4l XI& 80,610 0 80,610
= 13,000
< 13,522
[ia 54,088
301 et a3z 80,610 0 80,610
= 13,000
< 13,522
[ia 54,088
MIEE43 80,610 0 80,610
OHblY =AH24&= 80,610
= 13,000
< 13,522
e 54,088
dsHHE E2sdotdE X3 25,000 0 25,000
= 7,500
< 3,500
s 14,000
401 A& HIZ 201 I 25,000 0 25,000
= 7,500
= 3,500
s 14,000
01 A& HI 25,000 0 25,000
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AR == PN
HE: GoEy 25
ool MEHIIE H¥a2 (22 &d)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
Og=sHbld sS&otY &SN AEY 25,000
2 7,500
< 3,500
[Ea 14,000
MERREL 2 BS 5,603,396 4,786,502 816,894
= 1,371,494
2 1,637,825
S 436,790
[ia 2,157,287
AHEIE Zdz2te 3,609,959 2,829,180 780,779
= 1,041,903
Z 970,000
S 283,873
[ia 1,314,183
ZIRIIAY 1,328,643 1,823,567 A 494,924
= 647,481
£ 200,917
[ia 480,245
301 LEE A 3,200 3,200 0
== 640
[Ea 2,560
09 BAMAEHIEAS 3,200 3,200 0
OSSR 2= (8Y) 3,200
= 640
= 2,560
401 AIEBI L 2CHEI 1,325,443 1,820,367 N494,924
= 647,481
S 200,277
= 477,685
01 A€ dl 1,303,198 1,787,657 N 484,459
OZU I+ 71 (600ha) 1,068,282
= 533,906
S 160,203
[ia 374,173
OO0l LI It I1(110ha) 106,479
= 53,239
= 15,972
= 37,268
OZZ X Jt+I1(110ha) 98,437
= 49,218
S 14,766
[Ea 34,453
O=IHRIIXNAL & ASIHA T A (30ha) 30,000
T 6,000
s 24,000
02 2feldl 16,659 25,000 N8,341
O2URIRJI 16,659
= 8,326
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MY Y ES
AR - 2e] (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 2,498
s 5,835
03 Al S THHI 5,586 7,710 A2,124
O2 LRIt 1 (600ha) 3,920
= 1,959
< 588
s 1,373
OUE LIt I (110ha) 772
= 386
< 116
s 270
OZX& X IR I (110ha) 894
= 447
< 134
s 313
S 3 IR 33,944 33,944 0
= 16,972
< 4,585
[ia 12,387
101 @124l 33,944 33,944 0
= 16,972
< 4,585
= 12,387
04 JIZHHZ22XNHESE S+ 33,944 33,944 0
OLrE A XA (29) 33,944
= 16,972
< 4,585
i 12,387
ASEHOIQMA =EEE 284,040 216,706 67,334
= 145,820
< 39,115
e 99,105
101 @144 Hl 253,580 186,849 66,731
= 126,790
< 35,880
fia 90,910
04 D12t Z2XREE S 253,580 186,849 66,731
OABIOI 20 A =& EH(19H) 253,580
= 126,790
< 35,880
[ia 90,910
201 Let24d] 22,860 24,257 A 1,397
= 11,430
< 3,235
[ia 8,195
01 At 22/l 11,430 12,051 A 621
QXU A =3 S 2 (19Y) 11,430
= 5,715

- 320 -




SN BE=XD
B NYUNAZTY U 25
el METE ZATe CEEEED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
& 1,618
= 4,097
02 B232%H| 11,430 12,206 NTT6
OAEHIOIQOHA Al EHl SXHI(19H) 11,430
= 5,715
= 1,617
= 4,098
301 et A= 7,600 5,600 2,000
= 7,600
09 HAIAHIBAZ 7,600 5,600 2,000
OAEIHIOIQUHA =TS NESEH(19Y) 7,600
= 7,600
el At 364,516 104,600 259,916
= 230,490
== 38,914
= 95,112
401 AlEHIZL £ 0HY| 364,516 99,526 264,990
= 230,490
== 38,914
= 95,112
01 Al&H| 346,208 96,915 249,293
OHlol =22 (5ha) 14,172
= 9,436
& 1,420
= 3,316
O=Z2THM AFZE (15ha) 40,040
= 25,963
& 4,131
= 9,946
OEg4x2(9%a) 38,364
= 29,838
= 2,558
= 5,968
OEE X MAZZE (11ha) 46,890
= 36,470
& 3,126
= 7,294
OKRs&E XX (20na) 85,408
= 66,429
& 5,694
= 13,285
O2uUuR =22 X2 (5ha) 57,809
= 28,905
& 8,671
= 20,233
OAH THoH & Xl X & (7ha) 51,525
= 20,773
& 9,225
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2N #I=XB
B NYUNAZTY U 25
S MR 42 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
OUdfiotE s 2T SAY 50,000
MY ASAIY 2el 68,508 101,870 A 33,362
= 35,844
[ia 32,664
MEEASHAIIBIEY 55,348 87,300 A 31,952
= 30,204
i 25,144
402 RIZ2EXt20l ™ 55,348 87,300 A 31,952
= 30,204
e 25,144
01 RQIZEAI 22X 55,348 87,300 A 31,952
O=4%8 S MaZH X2 (10) 4,560
= 2,280
i 2,280
Ozsd &l (2ha) 8,000
= 4,000
s 4,000
OXCl MatzHl X2 (500) 10,000
= 5,000
s 5,000
O/ & S MAE X (2ha) 16,000
= 8,000
s 8,000
ORI ELIE(7ha) 4,788
= 3,724
s 1,064
Oxd=x+ S Z2FANE(33) 12,000
= 7,200
[ia 4,800
E O = 13,160 14,570 A 1,410
= 5,640
e 7,520
402 DI2HX 20| & 13,160 14,570 A1,410
2 5,640
e 7,520
01 RIZEAt2E X 13,160 14,570 21,410
OZIBYUy SSAH (4T0) 13,160
= 5,640
s 7,520
aa=—2= NN B 641,513 613,852 27,661
= 203,386
< 104,548
[ia 333,579
MSLUR BEZAY 576,605 545,437 31,168
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3,549
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1,007
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1,058
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202 O1H] 3,720 3,660 60
1,488
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1,562

Mo R

01 SLHOYI 3,720 3,660 60
Oar=2 2 st =51 (1863) 3,720
1,488

670
1,562

HH A

308 XXM S0l ™ 3,228 3,058 170

05 AXSHHL2ES S 3,228 3,058 170
(¢]

S
O&EdstelednNs ANZEES 3,228

401 AIEHIZ 2 I 86,235 81,235 5,000
34,494
156,522
36,219

HH A

01 A& dl 86,235 81,235 5,000

Oar2X0lA 32t x4 (5ha) 21,235
8,494
3,822
8,919
OS2 At St A (1CH) 60,000
24,000
10,800
25,200
ORQZAItH SR E = (1TH) 5,000
2,000

900
2,100

HHn A A

HH A

405 Xt&tE SHI 10,900 18,900 A 8,000
4,360
1,962
4,578

U AT

S5 =l 10,900 18,900 8,000
LA I1(30H) 2,400
960
432
1,008
OJIAHS A2 SAIAE SE(1E) 8,500
3,400
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SH: BA=TDY
N MANHEEM U 25
Sl MW O (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 7,530
= 3,570
AS SR ORI gl 22l 60,712
101 @124l 25,925
04 JI12tH 22 25,925
OM=<E , Y EHOI(11SH)
42,7803 »20H x30 25,668
OMEE 2 25,668,000& *1% 257
201 LEt2 A Y| 34,787
01 AFR2t2ldl 4,750
Ogt2H| 4,750
—AEXY & 5,000& *2700H 1,350
AT IHE M & 55,000& *200H 1,100
— MR G =g 2,300
SA(1 100, 000& *109H 1,000
SA( 130, 000& =104 1,300
02 =294l 30,037
Os32=2 % 2,950
—XEEE= 2,950
AE32 400,000 *3CH 1,200
=83t= 600, 000& =2LH 1,200
NESE 550,000& = 1CH 550
O Xt &I 27,087
— AE32(30) 13,619
— =83 = 5,812,000& = 1CH 5,812
—ESE 4,432,000 = 1CH 4,432
- 42858 3,224,000& = 1CH 3,224
srg Bl ae 4,196
= 4,196
301 dEtE A= 4,196
= 4,196
08 SUIZRRILZAZ 4,196
OltE 2ZAl 222 1 (29) 4,196
= 4,196
MEHHES YA 163,599
= 83,369
T 24,069
= 56,161
AMESHEHH S 163,599
= 83,369
< 24,069
= 56,161

- 327 -




2N
X ZH -
L= B

el

=

0F >
{0
o B &

Ql
=

R Pl ]
oV ou oY
o 0x

He

T

foh

=
m
40
[Pl
$

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

101 &

rY

=l 46,704 46,704 0
23,352

7,006
16,346

MW

04 DIt 22 XS+ 46,704 46,704 0
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1,540
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NJIEEd=s 4,400 2,198 2,202
OMEHAZFASE (1000 L) 4,400
2,200
660
1,540

Mo H

401 AIEHIZ 2 THHI 112,495 104,635 7,860
57,817
16,403
38,275

Mo H

01 A€ HI 109,776 101,860 7,916

OsZE2AX LY LS == AH(30ha) 39,922
19,961
5,989
13,972
OsZAAX LY THoi M2 (30ha) 58,599
29,299
8,790
20,510
Oz E0el LR =Ak(5ha) 3,035
1,518
455
1,062

O sel LIRFA 2 HIHI(5ha) 2,898
2,898
OJIEtai & Xl &2 Al (30ha) 5,322

2,781
762
1,779

a] 1,735 1,733 2
S22 XY IHoH M2 (30ha) 1,735
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03 Al 2 CHHI 984 1,042 A58
OsZEAX Ll URFAH(1.08%) 436
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AN 3=
B NYUNAZTY U 25
Sl HEHHES YA CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 218
= 65
e 153
OsZE2AX Ll THoH X2 (0.9%) 548
2 274
< 82
s 192
LS AIE 22| 1,042,717 974,643 68,074
2 6,992
& 667,825
< 3,500
s 364,400
AT &2 17,284 0 17,284
101 @124l 17,284 0 17,284
M4 JI2ZHZEXNSES 17,284 0 17,284
OYE Az L EHI
42,7803 *20Y x20 17,112
OdMEEZ 17,112,000& * 1% 172
AT AIE 22 839,750 779,684 60,066
= 587,825
s 251,925
101 @14 Hl 15,600 15,600 0
= 10,920
s 4,680
04 DI Z2XREE S 15,600 15,600 0
oY (2y) 15,600
= 10,920
s 4,680
401 Al B2 28I 824,150 764,084 60,066
2 576,905
e 247,245
01 A& HI 802,040 744,420 57,620
OY T A& (2.0km) 435,405
2 304,784
i 130,621
OZ T (2.0km) 262,452
2 183,716
e 78,736
OYE2EIME(1.0km) 64,120
2 44,884
s 19,236
OY T2 4(9.0km) 40,063
& 28,044
i 12,019
02 Zeltl 15,910 14,513 1,397
O T A& (2.0km) 8,450
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3,893
1,668
OLEAZINS(1.0km) 1,899
1,329
570
Syl 6,200 5,151 1,049
S AIE(0.72%) 3,219
2,253
966
O A= (0.72%) 1,944
1,361
583
OYEFZIN(0.9%) 600
420
180
OLE=E2(1.08%) 437
306
131

H oK M O

M of

M of H oK

A o

M oR
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M H
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O&rg MHIA S &2 B HI (5km) 165,232

77,616
77,616

02 Zeltl 3,616 2,894 722
O&tg MUl A S &2 F I (5km) 3,616
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03 Al £ CHHI 1,152 922 230
ObtE MHIAS & ZFHI(0.72%) 1,152
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2N B3EA=X0
B NYUNAZTY U 25
el ATAE B2 (B9 ®R)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Z 576
- 576
=S 29 11,700 18,975 NT,275
< 3,500
= 8,200
101 2124 H] 6,700 13,975 NT,275
& 2,000
= 4,700
04 JI2ZtHIZ22NEE S 6,700 13,975 NT,275
O8I 2H=0/1(1€) 6,700
= 2,000
= 4,700
201 et 9| 5,000 5,000 0
= 1,500
= 3,500
01 AFR 2t 2| bl 5,000 5,000 0]
O8xd 29U (1HA) 5,000
& 1,500
= 3,500
AtElE S 2] 77,100 112,100 A 35,000
= 20,800
= 56,300
BE4BL(BIAY) 76,000 111,000 £35,000
= 20,800
= 55,200
401 Al HI L 2 Tl 76,000 111,000 £35,000
< 20,800
= 55,200
01 Al&H| 75,611 110,233 N 34,622
OBS4HYIAFY (90 A) 35,611
= 10,683
= 24,928
OEs A B AL (1HA) 20,000
= 4,000
= 16,000
Qe A XI(2004) 20,000
= 6,000
= 14,000
03 Al 20| 389 767 N 378
OBS4AH ALY (1.08%) 389
& 117
= 272
MEIESSY 1,100 1,100 0
301 et A= 1,100 1,100 0
IBCEYE] 1,100 1,100 0

- 331 -




<
. <
i} 218 S|
Ko 3|88 |8 :
i g8 o | o
: 211222 :
— == . :
: i 8|8
S 0
RE
o
WH3r < M E m
m<l I*° |
RS m 4 1
(o)) 2 3 :
Z AL
e 3 ol | g
. 1 E
o
g 81313 | |
|| | NN @
y N % N < < |
ar slglgls 232 2 |
o s|g|g|e 83 8 8 |
2 S 8|8 8¢ BN
= N EN RN RS e ¥ S , ;" =
=) — - - =) N 3 0%0% =
. ] N 3 =] RN %Om5 .
o ros w8888 418 2
— o R %7m:4w s M : - : 3
- 5 0 Y Y 2
B HEH § RR|BIBES
1 S S S 88¢g¢g|8
: S 22,82m 8
2 g |
o | @ @ |
Mo : muz - mr 1
_w.._ M | : AI_' mr 1
. y n
: : 4 s
: : oo
- I ww m @ E
ml_“ H o 5o m*___ wo oﬂ
| J ( : g = = =
= [© i W oW E m H
P I E| = 2 I 2 * qw :
| : = o
= |* <+ srE = mpw o S 2
__|o“ | No _A : : al o x ™ S S o
m : : o o 0 h . E
- D sl bl m(nw 0,00,
S L ro ) i N
| o v = Y Ao =)
|8 = I T Dy 3 .
T X ..||H_|uu L|
: :A.E : . M = MM_.N <
R O ¥ WA v T : D |
. R0 o Kl o il 4 , E .& |
! ot il :
3 ot m [ |~ fo _ W o i ; : |
I+ I W = AR | - : ﬂ E : i
L i _ : = B) ~ WEIE
__ag__.= I 7 : E E " mﬂg oF R
= ; 5 | :
110y |T..A\_N Ou_ Cl_ x MJ ﬁ
o no= Kk b w = 5
2 ~ O O g éIEN
: g W s RA
: 0 z° ~N | D
rr O it
=
©
o
[eV)

- 332 -




2H: BESXD
M A=K 22 ALY
S I ESJS AFE 2 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 X2 b 58,000 43,600 14,400
O2EZ25AY TP (M, EIH S) 2,000
OAHEYE Z22372¢ 350 40,0002 x4 3| 56,000
401 AlEHIZ £ 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OJE4, HYstd B4 L MF ZEMH S
AFE 2] 20,000
=22 36,876 31,876 5,000
101 Q124 H| 4,876 4,876 0
SR EE RS 4,876 4,876 0
Oz AZB2l 38H 2
60,330& x4H 10 %23] 4,827
OdsHEE =2 4,827,000 *1% 49
206 M = dl 2,000 2,000 0
01 24l 2,000 2,000 0
O%}24 Yils &N L SH2Y 2,000
401 Al HI L 204 HI 30,000 25,000 5,000
01 Al&H| 30,000 25,000 5,000
OAUA JiIz4(2d) =807 10,000
OAMUZE JI2&(8E) =8USDI 10,000
OANM2H WNEEWN =8LSD| 10,000
TA =LA 700,000 13,988 686,012
2 350,000
= 350,000
1T AIEHZ20b] 700,000 0 700,000
2 350,000
= 350,000
01 Al&H| 694,960 0 694,960
OSsMAMT 2 (2HA) 397,120
2 197,120
iy 200,000
OJt24 XA (5km) 297,840
2 147,840
= 150,000
03 Al&E 201 Y| 5,040 0 5,040
Oz 2,880
2 2,880
Otz =4 2,160
2 2,160
LIRS2ddx=d 200,000 200,000 0
2 160,000
= 40,000
401 A& HI L E0HHI 200,000 200,000 0
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SN HE=XD
M ZFA =2l
el ZREMUBAANY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdErs3d ozl
42,7803 x 2«10 x12& 10,268
OdMMEE= 10,268,000& * 1% 103
401 AIEHI L 2 CHEI 55,000 40,000 15,000
01 A& Bl 55,000 40,000 15,000
MBS Z0 24 10,000
OMBHSZE XY+ 24 10,000
OMEN=SZE 0l MSHAAY 10,000
OUEN=3d 28+ dF € FxHA 5,000
OMHAZE 28 =4 (232 55) 20,000
S & 2e 84,050 138,387 A 54,337
101 @124l 9,793 10,230 AA37
04 JIZHHNZ2Z 2RSS E+ 9,793 10,230 A437
OZASA(16M2) EEHMHA
40,4003 «4H 30 4,848
OZANSH S5st&EA(58) o
40,4003 x1E » 120 4,848
OdMEE= 9,696,000& * 1% 97
201 24l 28,857 38,577 AQ,720
01 At 2t 2l 7,700 23,700 A 16,000
OZANZH SE3EA 222 7Y
20,0003 «b=*12& 1,200
OZASa el Sl 7,000& 38 %1002 2,100
OZAS3 e =240 & ZHYXH=E
440,000& 103l 4,400
02 2324gHl 21,157 14,877 6,280
OZANSE SESEA MIANER
100,000 x6= *12& 7,200
OEANSE S5 o= 23
50,000 «6= * 122 3,600
OEANZSd 234 =dK Xl
60,000 *5= *12& 3,600
OZ2dze g 2Egx 600,000 = 1CH 600
O3 &el Xl 4,357,000 = 1CH 4,357
OU=Jl s ®*XlZ¢cl 300,000& =63l 1,800
202 04l 900 1,080 A 180
01 = LH 4 Hi 900 1,080 A 180
OZ3X4H EtAl=2 #IXI0tY 60,0003 3«5 900
206 M= Hl 6,500 5,500 1,000
01 =4l 6,500 5,500 1,000
O E&NE s+ 10,000& »250= Xl 2,500
gldl, Hza 10,000& *400% 4,000
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2N #I=XB
Hu: RSN AY
el ZREMUBAANY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 38,000 83,000 A 45,000
01 A& HI 38,000 83,000 A 45,000
OZAX AZIAZLH(2)HL) 30,000
OZASE RXN22(10004) 8,000
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